>
N & o & AF & H A A
20189 = =0l & LB H SXE A
SN =NEH
M M =2X SEHAH
o2l ALZI S X MBlA gt (&)
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
SX &M 354,307,861 276,656,703 77,651,158
= 254,357,199
Xl 9,519,000
= 85,111,662
£ 5,320,000
Mal=X SEXA 16,541,898 11,066, 129 5,475,769
= 5,555,000
Xl 8,382,000
< 2,604,898
MBS X MHIA &t 10,690,170 10,467,517 222,653
= 280,000
Xl 8,382,000
< 2,028,170
NEXESE A AL FEHAY 9,162,435 9,518,282 A 355,847
Xl 8,207,000
< 955,435
308 XXl EHH SOl A 9,162,435 9,518,282 A 355,847
Xl 8,207,000
< 955,435
01 AXHHILEES 9,162,435 9,518,282 A355,847
OX<ZAS MUl A S XA 9,162,435
Xl 8,207,000
= 955,435
SSMENEe 22 & ASXN220F 22 666,735 611,235 55,500
A&
307 21201 A 636,735 611,235 25,500
10 ALSISXAIEEE2EHEX 450,000 426,000 24,000
OsEAMasSXEs 22 X2 (0AHE2 10%) 450,000
11T M SXAISE EX 186,735 185,235 1,500
OR=R & & STAEY 156,735
OAt2l SR dEAE SAR BHes K& 30,000
402 RI2EX 20| ™ 30,000 0 30,000
01 2I2F 2 A B (REMTH ) 30,000 0 30,000
OsEA=ENSSE33 JIs2 30,000
NEASEEEAN 29 &4dst N2 10,000 10,000 0
= 10,000
201 LBH2d| 10,000 10,000 0
= 10,000
03 & Ar2 Z I 10,000 10,000 0
OXSAEFHEAH X =HS 10,000
= 10,000
NEAS =X 2= 80,000 78,000 2,000
301 et A= 20,000 20,000 0




AN SXEHD
g M=K SEXNE

CHRl: A2 X AHIA & A (e H)
(o
S - BB () - HEAY - BES Ol At o %@ﬁ HRE2
11 JIEtE A= 20,000 20,000 0
O9ze o 223 X 20,000
307 QI2t0| ™ 20,000 18,000 2,000
11T A EXAIEEX 20,000 18,000 2,000
OMSIS XA S2FAIE K& 20,000
308 AXISHHSOIH 40,000 40,000 0
01 AIXSHMEMNEX= 40,000 40,000 0
OMSZ2XA Ex1=H X& 40,000
KNEXESE MBI AMHA EXNAS (NS 2H) 250,000 250,000 0
Xl 175,000
& 75,000
307 2izto| A 250,000 250,000 0
Xl 175,000
& 75,000
05 QIZ2tE 2 250,000 250,000 0
OFYXNIGASAEIAXEH 2H 250,000
Xl 175,000
= 75,000
NS A 2 & HE 135,000 0 135,000
207 I & d| 135,000 0 135,000
01 A& | 135,000 0 135,000
OM4Dl XNEAMSISEHE =S (HAEZ 10%) 135,000
MEIZEXAIE SAA A E XA 386,000 0 386,000
= 270,000
= 116,000
307 2I2t0| A 386,000 0 386,000
= 270,000
o= 116,000
11 A EXAIEEX 386,000 0 386,000
OABIESXAIE AN A & X 386,000
= 270,000
= 116,000
A SR AE &5 ¢ I 5,851,728 598,612 5,253,116
= 5,275,000
& 576,728
AMIIEXAIE /2 40,000 40,000 0
301 LBt A= 40,000 40,000 0
01 Al E & A 462 40,000 40,000 0
OAMIE2EXAIE 2 40,000
SEAEEXN2 JsES 49,000 80,000 A 31,000
201 et | 9,000 0 9,000




2N

EPARSE )

I AN S SEAH
Sl ASIZX AlE HE QL XS (29l & 2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
01 AP 22| H| 9,000 0 9,000
OZe M =X AlE BIIRE = (0aE2
10%) 9,000
403 XX SHHS K201 & 40,000 80,000 A 40,000
01 AIXISHHM A2 X 40,000 80,000 A 40,000
OZsAs =22 sy 25,000
OXINZESAIGEXN2 JsEL 15,000
MIEXAE 220 AR & & 487,728 478,612 9,116
307 Q12t0| ™ 96,480 96,220 260
10 AISIEXAIEEHE2IHIEXR 96,480 96,220 260
OMIIETAYE HRIME(Z) 96,480
308 XX G SO0l A 391,248 382,392 8,856
01 AIKISHMEMNEX= 391,248 382,392 8,856
OABIEXAE HRMH(AZ2) 391,248
ANSE2H XX 5,275,000 0 5,275,000
= 5,275,000
308 MXISHHSOIA 5,275,000 0 5,275,000
= 5,275,000
01 HXHHIMNEXTZ 5,275,000 0 5,275,000
OANZ=ER22E K& 5,275,000
= 5,275,000
gsae ¢ ¥ 1,311,200 1,890,750 A 579,550
2& 22| ¢ 1 1,311,200 1,890,750 A 579,550
BEcH X 670,500 715,050 AN44 550
307 QI2t0| ™ 630,500 695,050 A 64,550
03 I HEHESIHIEX 490,500 484,000 6,500
OBEHH 29 45 (A2 10%) 378,000
OsdeEE32 22 2L (0l A= 2 10%) 112,500
11T A EXAIEEX 140,000 211,050 AT71,050
OBZCH 2L 8&EX =d 90,000
ORIB+=2X3 &Hd &2 XS 50,000
402 SI2vXHE0| & 40,000 0 40,000
01 BIZtXIEAYE X (KM ) 40,000 0 40,000
O2z4+=2X3 JlsEd 40,000
SBESAX K& 170,000 170,000 0
301 et A= 95,000 95,000 0
01 Al B & X 262 95,000 95,000 0
O=2IIg2A /=2 95,000
307 2Iz2t0| A 75,000 75,000 0




SH =SNEMY
dd: BEgae 2 X2
oelr 2@ el 2 XY (B9 ®R)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 22272l 70,000 70,000 0
O=gxR3X 2A=H X 70,000
04 QIZFHALAIRH B = 5,000 5,000 0
OgE=U4 X& 5,000
EEANE 28 & JIsEZ 330,000 875,000 A 545,000
201 £B-2dH| 140,000 0 140,000
02 =224l 140,000 0 140,000
Osg=2s3d 2el 140,000
402 RIZ2FR201 A 90,000 815,000 AT725,000
01 U2 EALE X (XM R) 90,000 815,000 A725,000
OE=sXzsis JIs2Z 60,000
OE+=URRIAE JIsE2 30,000
403 XSS A=0l& 100,000 15,000 85,000
01 X SHMA2E X 100,000 15,000 85,000
OYH 3 ISYUHMEE JIEE BelARL A
= 100,000
4o & o S 140,700 130,700 10,000
201 £B-2d| 46,000 36,000 10,000
03 A2 Z Hl 46,000 36,000 10,000
Os=2289 & A =& 46,000
301 et a s 20,000 20,000 0
09 AL HIZ &S 20,000 20,000 0
O==E289 € @A =& 20,000
307 21201 A 74,700 74,700 0
02 QB AAHEX 74,700 74,700 0
OUetAtg & EE2Al sHaAY X3 74,700
S0 =MESE 203,008,669 193,229,375 9,779,294
= 182,130,129
Xl 1,137,000
< 19,741,540
Jlzdg2d 25 & XA 203,008,669 193,229,375 9,779,294
= 182,130,129
Xl 1,137,000
< 19,741,540
HH= 165,111,680 159,063,973 6,047,707
= 149,911,443
< 15,200,237
308 AAIEHHSOIA 165,111,680 159,063,973 6,047,707
= 149,911,443
< 15,200,237
01 HXNHHNBMNELS 165,111,680 159,063,973 6,047,707




SH =SNEMY
My RO EMBEE
ool JZMESE 25 U X8 (el @2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OdA=N 165,111,680
= 149,911,443
< 15,200,237
HAZEHS N 1,162,708 1,136,567 26,141
= 1,033,518
= 129,190
308 XXM SOIA 1,162,708 1,136,567 26,141
2 1,033,518
< 129,190
01 X HHBILEES 1,162,708 1,136,567 26,141
Ot H =N 1,162,708
2 1,033,518
< 129,190
NESH(BHEEXEH) 471,672 360,047 111,625
308 MtXIEHSOIH 471,672 360,047 111,625
08 WSII20HetE = 471,672 360,047 111,625
OussH 471,672
A=Sol(I|x=2 ) 3,500,000 2,201,340 1,298,660
= 3,500,000
308 X EHSOIA 3,500,000 2,201,340 1,298,660
= 3,500,000
01 HIXNHHNBNEES 3,500,000 2,201,340 1,298,660
OJdiz==2 X &3 X 3,500,000
= 3,500,000
YDEO(TUHARAHS) 625,644 625,644 0
= 556,128
< 69,516
308 XXM SOIA 625,644 625,644 0
= 556,128
< 69,516
01 AXHHILEES 625,644 625,644 0
OXAAANE &= &XE 625,644
= 556,128
< 69,516
==X 5,568,750 3,980,808 1,587,942
= 4,950,000
= 618,750
308 XtXI €M S0l & 5,568,750 3,980,808 1,587,942
= 4,950,000
< 618,750
01 HXNHHBHEELS 5,568,750 3,980,808 1,587,942
OZsS=XX& 5,568,750
= 4,950,000
< 618,750




SN =NEH
o RO EMBEE
el JIZMERE 22 U X (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
S At 2tel At el dl X3 1,096,742 1,054,560 42,182
= 843,648
< 253,094
308 AHAIEHHSOIA 1,096,742 1,054,560 42,182
= 843,648
< 253,094
01 HIXNHHNBHELS 1,096,742 1,054,560 42,182
OS At 22l AL elAd XI& 1,096,742
= 843,648
< 253,094
S8s SXdEs 49 4 XA 42,000 28,000 14,000
= 42,000
308 XXM SO0 A 42,000 28,000 14,000
= 42,000
01 IXNHHBNEES 42,000 28,000 14,000
ouzgs gdat XN& 42,000
= 42,000
ANz SetAtel el X 122,000 122,000 0
= 122,000
308 XtXIEHH SOl A 122,000 122,000 0
= 122,000
01 X HHILEES 122,000 122,000 0
OAIZ Atcil2elAtey X3 122,000
= 122,000
A2 =Xelsd oAl XI& 1,837,500 3,066,000 A 1,228,500
= 1,837,500
308 A EHHSOIA 1,837,500 3,066,000 A 1,228,500
= 1,837,500
01 AXNSHBLEES 1,837,500 3,066,000 A 1,228,500
OSFUMHIH=SISXNIHES 1,837,500
= 1,837,500
Sts ¥EE SEgMHA XA 1,217,160 729,120 488,040
= 1,217,160
308 XXM SO A 1,217,160 729,120 488,040
= 1,217,160
01 IXNHHBNEES 1,217,160 729,120 488,040
OSY s Atdl&clArdl XI& 1,217,160
= 1,217,160
ROHIt= SXMEIA FEXHA 740,300 1,046,800 A 306,500
= 740,300
403 XIS E X201 & 740,300 1,046,800 A 306,500
= 740,300
01 XXM 22 = 740,300 1,046,800 /306,500




SN =2XEYY
My RO EMBEE
Cel JIZMESE 25 2 AY CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OO0t SXNAMEIA XHEXE 740,300
= 740,300
SEENXNAAE 2HXA 113,834 115,634 A 1,800
201 L2l 16,200 18,000 A 1,800
01 At 22l 16,200 18,000 A 1,800
OSd¥sE SXNdEs s 8 2 (M&E2 10
%) 16,200
308 XXM SOl A 97,634 97,634 0
01 IXNHHBNEES 97,634 97,634 0
og=Jlskat 2¢ XA 97,634
folsU #=XZB0 2 83,835 102,993 A 19,158
308 XtXIELHSOIA 83,835 102,993 A 19,158
01 AXHHBIYEES 83,835 102,993 A 19,158
OosXeaEH 24 83,835
S8 SA22d SEAMHlA 25 X& 245,700 245,700 0
308 MXIEHMSOIH 245,700 245,700 0
01 HXNHHBHELS 245,700 245,700 0
OY=R2S At 21AHl K& 245,700
Ne2z, NANEdE £ AN HEHRI (A2, 12,453,952 11,321,775 1,132,177
22)
= 11,070,180
= 1,383,772
308 XtXIEHHSOIA 12,453,952 11,321,775 1,132,177
= 11,070,180
< 1,383,772
01 HXNHHMBHELS 12,453,952 11,321,775 1,132,177
oxnagz=z 12,453,952
= 11,070,180
=) 1,383,772
ez, NANEdE 2 ZANEHdEH2S (M2 25,814 25,814 0
Abedl)
= 21,259
< 4,555
308 XXIELHSOIA 25,814 25,814 0
= 21,259
< 4,555
01 X HHILEXS 25,814 25,814 0
ORXHE AL 2t el 25,814
= 21,259
< 4,555
ez, NANEdE 2 ZANsdH2E(A2E 2,867,900 2,867,900 0
&)
= 2,361,800




SA: 2X™ 2
M. ZOI)|XMESE
Cel JIZMESE 25 2 AY CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 506, 100
308 XHXIEHMSOIA 2,867,900 2,867,900 0
= 2,361,800
= 506, 100
01 AIKSHHENMNEXZ 2,867,900 2,867,900 0
OXNEXEHH 29 2,867,900
= 2,361,800
& 506, 100
NE2Z, NARNEUH L ZANSBUAEHSY(E, ¥ 521,600 506, 600 15,000
)
= 365,120
& 156,480
307 2Iz2to| & 521,600 506,600 15,000
= 365,120
= 156,480
10 M SXAANEEHESIGHEX 521,600 506,600 15,000
OsdZ2AXEMH 29 K& 521,600
= 365,120
=} 156,480
DESUYELZNALLSNA(NZZY) 3,738,155 1,960,800 1,777,355
=2 3,508,653
& 229,502
308 MXISHHSOIA 3,738,155 1,960, 800 1,777,355
= 3,508,653
& 229,502
01 IXHHIMNEXS 3,738,155 1,960, 800 1,777,355
O UISEZ | (I=2==2AH) 1,037,617
= 975,817
= 61,800
ougosssx 412,800
= 384,000
&< 28,800
OFUESUIISEE 364,420
= 342,030
== 22,390
OgYINssad |l 1,923,318
= 1,806,806
& 116,512
TARES ABIMHIA SXA (OFAREE) 1,349,123 1,116,900 232,223
N 1,137,000
& 212,123
308 XHXIGH SO0l & 1,349,123 1,116,900 232,223
Xl 1,137,000
& 212,123
01 AIKISHHENEXZ 1,349,123 1,116,900 232,223
OJIA2tger2 X 1,349,123




SA: 2X™ 2
My RO EMBEE
Cel JIZMESE 25 2 AY CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Al 1,137,000
& 212,123
L=0olzlgay 42,000 42,000 0
308 XAHXIEHSOIA 42,000 42,000 0
01 AIXSHMENEX= 42,000 42,000 0
Ok=xmodaga9g N 42,000
225 s 23X €422 N (Z, /AEH]) 70,600 0 70,600
= 49,420
= 21,180
307 2iztol & 70,600 0 70,600
= 49,420
= 21,180
05 QIZtR E 2 70,600 0 70,600
OXNMELEXRAIY AEF2AHH| 70,600
= 49,420
o=t 21,180
ors=2xsd 93,632,210 35,937, 153 57,695,057
= 66,664,570
o=} 21,647,640
£ 5,320,000
Olsslat Z2dMEeE =& 93,632,210 35,937, 153 57,695,057
= 66,664,570
=} 21,647,640
£ 5,320,000
I8 AEOIS AdlE2E 2 X 49,000 49,000 0
= 34,300
& 14,700
201 et 49,000 49,000 0
= 34,300
& 14,700
02 23244 49,000 49,000 0
OJIEfIe0ls Mdol2gE XI& 49,000
= 34,300
& 14,700
NEotsEsdE2I)| & 89 1,797,818 1,797,818 0
= 898,909
= 898,909
307 2Iz2t0| A 1,797,818 1,797,818 0
= 898,909
= 898,909
05 QIZ2tREF 2 1,797,818 1,797,818 0
OXY0tsEsd2) |2 29 1,797,818
= 898,909
= 898,909
XNEOtSHEH ASXNFY 2 168,000 168,000 0




2AM: =X "““EP
3 ois=Asd

ool or%gwg Z2NE X (el @2)
(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

= 84,000
& 84,000

307 2iz2to| A 168,000 168,000 0
2 84,000
&< 84,000

02 QIZ2IAAAIE E X 168,000 0 168,000
OX<Y0otsHdH MRS 2H 168,000
= 84,000
& 84,000

NEOotsSHE HoF Y HoIH 24 40,000 40,000 0
= 20,000
=} 20,000

307 QI2t0| ™ 40,000 40,000 0
= 20,000
& 20,000

11 Al EXAIEEX 40,000 40,000 0
OX<gots4dH HOF & Holo 29 40,000
= 20,000
= 20,000

UAINNAELAE OIS AelxEs X3 31,200 31,200 0
= 21,840
= 9,360

307 2Iz2t0| & 31,200 31,200 0
= 21,840
= 9,360

11T A EXAIEEX 31,200 31,200 0
OLAINEEOS Aelxls X 31,200
= 21,840
& 9,360

StHOloiOlsa s &9dl, &2dl, AFEH| 277,651 277,651 0
= 158,658
& 118,993

308 XHXIGH SO0l & 277,651 277,651 0
2 158,658
& 118,993

01 AIKSHHENEXZ 277,651 277,651 0
Osttimoiotsae 29 XN& 277,651
= 158,658
= 118,993

RESOls OEE 2¢ 887,760 840,748 47,012
2 591,840
o= 295,920

308 MXISHMSOIA 887,760 840,748 47,012
= 591,840
=} 295,920

01 AIXSHMENEXZ 887,760 840,748 47,012




2N
X ZH -
L= B

el

EPARSE )
ots=EXEsd

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %E& HRE2

ORESOE O858 &9 887,760
= 591,840
= 295,920

NEotsHEH 2294 A& 9,189,180 8,661,728 527,452
= 7,068,600
= 2,120,580

308 XHXIGHH SO0l & 9,189,180 8,661,728 527,452
= 7,068,600
& 2,120,580

01 HXHHIMNEXZ 9,189,180 8,661,728 527,452
OXgotsdH 294 XN& 9,189,180
= 7,068,600
& 2,120,580

ELE2XMY NHOISHE FIAE 288,990 389,173 A 100, 183
= 222,300
= 66,690

308 XX SHHSOIH 288,990 389, 173 A 100, 183
= 222,300
o= 66,690

01 AIXSHMENEXZ 288,990 389,173 A 100, 183
OE£+=28E XNE0otsHdH =IO 288,990
= 222,300
= 66,690

EQRRY XNY0SHE FIHAL 173,550 369,907 A 196,357
= 133,500
& 40,050

308 XHXIGH SO0l & 173,550 369,907 A 196,357
= 133,500
& 40,050

01 AIKSHHEMNEXZ 173,550 369,907 A 196,357
OER2Y XY90tsHEH =N 173,550
= 133,500
o= 40,050

LLEXNYG0otsHE XS 360,360 0 360, 360
= 277,200
= 83,160

308 MXISHMSOIA 360,360 0 360, 360
= 277,200
& 83,160

01 IXHHIMNEXTZ 360,360 0 360, 360
O2£&XN20lsHdH X 360,360
=2 277,200
& 83,160

OFS=SX DA THAX 1,926,600 1,872,000 54,600
= 1,482,000
o= 444,600




AN SXEHD

ol OlS=XSE

Sl OlSEY DRME

il

&l

il

i

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

308 X EHSOIA 1,926,600 1,872,000 54,600
= 1,482,000
< 444,600

01 HIXNHHBHNEELES 1,926,600 1,872,000 54,600
OO0tSS X WA ThAX&A 1,926,600
= 1,482,000
< 444,600

FHAHNE OlsSEMEIA XA 4,500,000 4,500,000 0
= 4,500,000

308 XXM SOIA 4,500,000 4,500,000 0
= 4,500,000

01 AXHHBISEES 4,500,000 4,500,000 0
OFAAHE OlsSEAMEIA XA 4,500,000
= 4,500,000

Ot ZEXJAAE UXSHHMILER 954,428 795,600 158,828
= 786,000
< 168,428

308 MtXIEHSOIH 954,428 795,600 158,828
= 786,000
< 168,428

01 HXNHHBHEELS 954,428 795,600 158,828
OOsSZLEXN AR RXSHHEBAE X 954,428
= 786,000
< 168,428

QA0S IHEXN A 1,277,507 1,223,153 54,354
= 1,052,065
= 225,442

308 X EHSOIA 1,277,507 1,223,153 54,354
= 1,052,065
S 225,442

01 HIXNHHNBMNEES 1,277,507 1,223,153 54,354
ogeots s+ N 1,125,354
= 926,762
= 198,592
O Lols 22X XA 72,678
= 59,853
< 12,825
Oogg=elI2 22X X 10,625
= 8,750
< 1,875
ogaddlE & 68,850
= 56,700
= 12,150

sl E€Z25¢ g4H X2 5,320,000 5,616,000 A 296,000
£ 5,320,000




2N

gxl X ZH ﬂl;

HM: OtssXSH
el OF%QI%* Z2NE F& (cho &)
5 - 4
SAH-EB. S (3H) - HEAY - BE2 0 AF o il HDS2
308 AXISHXMSO0IH 5,320,000 5,616,000 A 296,000
£ 5,320,000
01 HXHNBMNEXTZ 5,320,000 5,616,000 AN 296,000
Oglls E2dssd Z4H XA 5,320,000
£ 5,320,000
Z2A0ts 244 XA 2,655,000 2,655,000 0
308 AHX| &AM SO0l A 2,655,000 2,655,000 0
01 AIXHMBAEEXZ 2,655,000 2,655,000 0
OZ4A0ts S4Hl X 2,655,000
OtsS=XAIE JIsE2d 1,010,785 1,468,551 NA457,766
= 673,857
= 336,928
403 MtXISH M S K201 1,010,785 1,468,551 NA457,766
= 673,857
& 336,928
01 MXSHAHXNE2BE =X 1,010,785 1,468,551 N457,766
O0tsEXNAAE JIse22 1,010,785
= 673,857
& 336,928
MEtoty X3 3,028,740 3,288,740 A 260,000
308 AXISHXSO0IH 3,003,740 3,263,740 A 260,000
01 AXHNBMNEXZ 3,003,740 3,263,740 A 260,000
OUtsSYEAIE 28 XA 2,528,000
Of4A83Z0ts NHHEHZ XN 217,500
ONE/EIIE d=x8x3 XA 3,240
O0ls MEd X (EZ) 255,000
403 X SHHMS K201 25,000 25,000 0
01 XX SHMAA2E X 25,000 25,000 0
OYIIESE(2SHEINY) Jls2S 10,000
OR0aANME=RE 22 15,000
sE58d &4 774,000 737,000 37,000
307 QI2t0| ™ 46,000 37,000 9,000
11 AIZIEXAIEE X 46,000 37,000 9,000
OMEAE SAX 2Rz & AHUHAE WS(
Ol AP 2E 10%) 36,000
OXNYG0otsHE SAML HRAES 10,000
308 XXM SO0IA 665,000 665,000 0
01 AIXHMBAEXZ 665,000 665,000 0
OXY0otsSHE X (Z2) 257,000
Ools s&&8d XN (=Z2) 408,000
403 ItXISH M S K201 63,000 20,000 43,000




L OlEEY HZRME XX

P ESANE AL
D ots=EAsd

il

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
01 XX SHMA2E X 63,000 20,000 43,000
OY&XNAOISHEH 2122 E 25,000
OZAXNS0tSHE AAMNA 20,000
OO0tMXIH0otSHME AS XI& 18,000
oObN o AHel X 1,431,064 1,155,884 275,180
307 QI2t0| & 1,026,064 870,534 155,530
04 QIZISHALAIE B2 X 9,000 9,000 0
OO0l =2HA =& 4,000
Ol SsteA & s =X 5,000
05 A2t E = 400,064 400,064 0
OSEINE/AEXNAALEH 29 340,064
OO sXHEXNJAXG I 2 29 60,000
10 Al SEXAIEEE2IHIEX 259,000 253,000 6,000
OZdJa 29d9 259,000
11T AISISXAIE E X 358,000 208,470 149,530
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